DIRECTIONS

For questions 1-15, solve each problem, choose the best answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 16-20,
solve the problem and enter your answer in the grid on the answer sheet. Please refer to
the directions before question 16 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

The use of a calculator is not permitted.

All variables and expressions used represent real numbers unless otherwise indicated.
Figures provided in this test are drawn to scale unless otherwise indicated.

All figures lie in a plane unless otherwise indicated.

Unless otherwise indicated, the domain of a given function fis the set of all real numbers x for which
f(x) is a real number.
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The number of degrees of arc in a circle is 360.
The number of radians of arc in a circle is 2.
The sum of the measures in degrees of the angles of a triangle is 180.
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If n = m, which of the following must be Q

R
true? R \
A m-n>1 U 4 w
B) n-m<1 Slo N

C) m+n=0 :
D) m-n<0 Note: Figure not drawn to scale.

In the figure above, QR || UW || ST and
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Which of the following equations,
when graphed in the xy-plane above

would create a system of equations with

solutions at points (3, -3) and (8, 12) ?
A) 3x-y=12

B) -3x+y=12

C) x-3y=12

D) -x+3y=12

For more free content, visit PrincetonReview.com

Which of the following expressions is
equivalent to 47 8 ?

A)
B)
C)
D)

2%
2%
27y
43

A palm tree is planted in a pot. The
monthly growth rate of the tree can

be modeled as y = 0.15x + 14, where x
represents the number of months since
the tree was planted, and y is the total
height of the tree, in inches. Which of the
following statements is true?

A)
B)

C)
D)

The tree grows 14 inches per month.

The tree was 14 inches tall when it was
planted in the pot.

The diameter of the pot is 14 inches.

The conversion factor for finding the
height in centimeters is 14.



BMI = 2 x 703
h2

A physician wants to determine if her
patient is at a healthy weight for his
height. She calculates his Body Mass
Index (BMI) using the equation above,
where w is the patient’s weight in pounds

and h is his height in inches. If the patient

is 70 inches tall, which inequality best
represents the approximate weights that
would suggest that the patient has a BMI
greater than 25°?

A) w>175
B) w<175
C) w>150
D) w< 150
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3x-19y=17y+6

x=6y+3

Based on the system of equations above,

what is the value of the quotient X?

A)

B)

®)

D)

aOWIN =

24

y
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DIRECTIONS

For questions 16-18, solve the problem
and enter your answer in the grid, as
described below, on the answer sheet.

1. Although not required, it is
suggested that you write your
answer in the boxes at the top of
the columns to help you fill in the
circles accurately. You will receive
credit only if the circles are filled in
correctly.

2. Mark no more than one circle in any

column.

3. No question has a negative answer.

4. Some problems may have more than
one correct answer. In such cases, grid
only one answer.

3

1
5. Mixed numbers such as °2 must be

griddedas3.50r7/2. (If| 3| 1|/ | Z|is

entered into the grid, it will be inter-
preted as %, not as 3% )

6. Decimal Answers: If you obtain a
decimal answer with more digits than
the grid can accommodate, it may be
either rounded or truncated, but it
must fill the entire grid.

7

Answer: 5 Answer: 2.5
Write. .| 7| /|12 51 s
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Acceptable ways to grid 2 are:
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Answer: 201 - either position is correct

NOTE: You may start

2/0/1 20 1 ;
) DID your answers in any
OO (DIl column, space
D % 5 g D 5 % % permitting. Columns
you don't need to
%\g % % \% % % /®é\ use should be left

blank.
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